SUPPORT BOLT AND FACE PLATE (4 1/2" TOP SLAB)
3-#4 BARS X (W+6') IN ADDITION TO
CURB LINE REINFORCING STEEL PER APPLICABLE
\ CATCH BASIN STANDARD PLAN
5/16" X 10" FACE PLATE
)
~N
n
I I\ L
! ==
65 1/2° T T
11/16" R g)l g
T E <
ray
N &4 ————F =1
? %]
= g it
[aa] = I
x > ~ 3
3 & N —— Lw 1/4"
t ~
g8 DANES HEX. NUTS
e ¢
= ;Lj / 1 1/8" HOLE IN PLATE
~ ¢
1 4 / 3/8" DIAMETER COUNTERSINK—1"C.C. ON SUPPORT BOLT
. < FOR SET SCREW. NONE REQUIRED FOR CURB FACE LESS
. __/ A THAN 7. THREE REQUIRED FOR 7° CURB FACE. ADD ONE
/4" R NP / COUNTERSINK FOR EACH INCH OF CURB FACE GREATER
o . ) THAN 7.
®,
/ 1" SUPPORT BOLT
) LENGTH=C.F. PLUS 6"
oA o
BAO A Aa . A
W+ %g Y-
- 0 A Y™ .
=Y AV A A =18 FOR CURB BATTER LESS THAN 2:12
XA = 9° FOR CURB BATTER 2:12 THRU 4:12
. X A = AS SHOWN ON PLANS FOR ALL OTHER
| CURB BATTER
SECTION
LOCATE WELDS IN
OPENING FOR CONC. 5/16" X 10" LONGER SPAN
PLACEMENT (TYP.) FACE PLATE SEGMENT
INTERIOR FACE OF CATCH . "
BASIN END WALL < ?{ég pﬁAT‘EO 74172
AY A 7. 4
<
AN { 364" ?IA.P) / /
( HOLE (TYP.
L . :‘LA L /412
N \\J 3 \ ( = 3— 5 ~ T L T
s b { 3/4 5/8 x 1-1/2"| . N | E - N
s A SQUARE: CoTs AND L= - =&l H S8
N :1 - 12" = L Y] HoLES HEX. NUTS ‘:1’ ?}_$ ni 'i_ " X W
I a 5 7 i b
| ' l T
L N — ILE A W R
AV
! \\ orR—"] |
L END ANCHOR (TYP.) ¢ ;}“;_Hx B'VV 2 | 2 174172 ' ANCHOR
I SPLICE PLATE 2 4" 4 2'J
N JOINT
| END DETAIL SPLICE DETAIL
el
[e)]
o CITY OF RANCHO CUCAMONGA, CALIFORNIA
&|APPROVED BY:
— CATCH BASIN FACE PLATE ASSEMBLY | STANDARD PLAN
o .
L
B % el 72 , AND PROTECTION BAR 305
DlCITY ENGINEER TE
Elrer. Poage s USE WITH STANDARD SPECIFICATIONS FOR PUBLIC WORKS CONSTRUCTION SHEET 1 OF 6 J




SUPPORT BOLT AND FACE PLATE (6" TOP SLAB)

CURB LINE

FACE PLATE

5/18" X 13 11/1¢"

10 1/2"

. N

3-#4 BARS X (W+6") IN ADDITION TO
REINFORCING STEEL PER APPLICABLE
CATCH BASIN STANDARD PLAN

85 1/2°
‘l‘l/‘lG/R

CURB FACE + H

V4

/LS

1 1/8 HOLE IN PLATE

END DETAIL

.
'..A / )
Y '.A / /
. /
°. / /
e, ///
/, /
°A o NOTE
A a - ..A FOR DETAILS NOT SHOWN, SEE FACE
"o Y N PLATE (4—1/2" TOP SLAB)SHEET 1.
- A A A Lol
A \
T SECTION
OPENING FOR CONC. tgﬁéTEER‘ "é%';&s IN
PLACEMENT (TYP.) e e SEGMENT
INTERIOR FACE OF CATCH " " 5/16" X 13 11/16
Y v S y4 1T—7
~ N / 3/ oA R / //
[ HOLE (TYP.) N sy
2 X2 ] Y B e
I \ & N/ Be ? . X -
\ _ _ S —
\ N S =+ /a7
¢> Y -
=g by — o=
Y N7 g
L B e PR%esrle BT 1l
2 IA - 4 1 — —
Ny M SQUARE Qz BOLTS AND ;S = l P —L - S al
NN | | ~ HOLES A\VAY HEX. NUTS | = | 1 TAE ™ in
© 4’—_ - ‘=/' — —— — o < - >
1 ¢ — {
L ' \ A T (1 =" 1
B — O i L N E
‘0
= \ ANCHOR " "
m L L 2 2 174172 o
C END ANCHOR (TYP.) ¢ X 3/8 X 8 ’ - : PN ancHoR
SPLICE PLATE a2 4 4 2,
OINT

SPLICE DETAIL

CITY OF RANCHO CUCAMONGA, CALIFORNIA

[ 6-20-95 |

REVISED

APPROVED BY:

CATCH BASIN

FACE PLATE

ASSEMBLY

STANDARD PLAN

305

Wk Qe s AND PROTECTION BAR
CITY EfBINEER DATE| USE WITH STANDARD SPECIFICATIONS FOR PUBLIC WORKS CONSTRUCTION
RC.E. 24953

SHEET 2 OF 6




FACE PLATE ANCHORS

TYPICAL

3/8

\——IIZ' % STEEL ANCHORS, 21°0.C. MAX.,

ALTERNATE UPPER AND LOWER AN-
CHORS AS SHOWN

HOOK ANCHOR — 4'%" TOP SLAB

378 YPICAL
« [ 4 ‘. 4 . P Y
. r = |- . .. P 2 " - g L
., - . . e .. '. . R
e . o v T g
B - e . ]' LGN ‘. ’ e
.o ; ]. e : ".‘
o \..\ s ,’, R '.: -4;.
1/

\\-— 2" ¥ x 8" STEEL ANCHORS,I18"0.C. MAX.,
ALTERNATE UPPER AND LOWER ANCHORS
AS SHOWN

ROUND HEAD ANCHOR — 4'%2" TOP SLAB

» - ‘.. '-

P e s " P . \ s

. . T o 9 ~N
- - o°

172" § STEEL ANCHORS, /8 - -
2170.C.MAX.,ALTERNATE PR p . 2 1.
UPPER AND LOWER AN- E LI - Y Th
CHORS AS SHOWN

HOOK ANCHOR — 6" TOP SLAB

CITY OF RANCHO CUCAMONGA, CALIFORNIA

APPRIVED BY CATCH BASIN FACE PLATE ASSEMBLY | STanparp pLan
b1k /7 AND PROTECTION BAR 305

2|
CITY ENGINEER DA
RCE. 24953 TE| USE WITH STANDARD SPECIFICATIONS FOR PUBLIC WORKS CONSTRUCTION SHEET 3 OF 6




PROTECTION BAR AND SUPPORT BOLT(S) WITH

ADJUSTABLE STIRRUP(S)-(TYPE A)

F

TO PREVENT TURNING
DRILL 1/2" HOLE,
1/4" DEEP ~ DRILL AND TAP HOLE AND, INSTALL

STD. 3/4"
STEEL PIPE

LATTEN ANCHOR END

ND ANCHOR WITH \

<E:oupuNo AND SET FACE PLATE S pPORT BOLT WITH 3/4" DA, PRHOTECT\ON BAR

SCREW / ADJUSTABLE STIRRUP (TYP) [~ END ANCHOR—
g — " J| ; ' ]

. > < I
\ f W I '
P y -

DOWNSTREAM
END OF BASIN ELEVATION

3/8"=NC X 1/2" SOCKET\SET SCREW ¢
WITH 3/16" RECESSED HEX HOLE /

2

CURB FACE

STD. 3/4" STEEL COUPLING
TO FIT SNUG OVER ENTIRE
LENGTH (3/4" NPS THREAD)

PROTECTION BAR

/END ANCHOR DETAIL
I

Yy —
A S A
//l lA 2(-."’ -
- 4
' A e . 4' 4
e ¥
D
4
I -
+ \\\\ '_A‘..A.
3 SN A
< O~
W ~ >~
e .
a sl
o
SUPPORT
BOLT
15/16" ? f
PROTECTION 1 a \1/8" RAD
BAR / / (TYP.)
ADJUSTABLE
— STIRRUP 4
3
1/2" DIA
NP - i

DRILL AND TAP HOLE AND INSTALL
3/8°—NC X 1/2" SOCKET SET SCREW
WITH 3/16" RECESSED HEX HOLE

PROTECTION BAR

& STIRRUP LOCATION STIRRUP DETAIL

S CITY OF RANCHO CUCAMONGA, CALIFORNIA
e CATCH BASIN FACE PLATE ASSEMBLY| STonee o
2Ny E?Jﬂfi!f 25&( AND PROTECTION BAR 305

g EICTE X KZNLESE:'J USE WITH STANDARD SPECIFICATIONS FOR PUBLIC WORKS CONSTRUCTION SHEET 4 OF 6




PROTECTION BAR AND SUPPORT BOLT(S) WITH
FIXED STIRRUP(S)-(TYPE B)

3/4" DIA. PROTECTION BAR

SUPPORT BOLT AND (2 SECTIONS MIN.) )
1/2" PIPE FIXED STIRRUP (TYP.) THREADED EACH END (1/2" NPT)
CAP (NPT) FACE PLATE 179" PIPE 1/2" PIPE
/ CAP (NPT)
s EYE BOLT L COUPLING (NPT) \ EYE BOLT\
~7 « - \af
=y Lo/ = =5 >\ 2 L
] $| f 1 [ |
| 4’!{: " 6" MIN. 1"j - )
6" —= — 6
w/2+
y W
ELEVATION

FACE PLATE FACE PLATE
O A ~ .
-
A L
-
a dqp -
A
I RS
+ T .
L + \\\\ . '_‘A..
2 ] \\\\\ - A
L Q \\ ~
< ~ .
[sa) L SN
i @ / S
3 2 / 1 1/8" HOLE
/ 5/8" EYE BOLT © oy
| WITH HEX NUTS .,
/ 1/2" DIA. FIXED ,
/ STIRRUP SUPPORT
/ PROTECTION BAR R=5/8" BOLT
™ " ! PROTECTION BAR
=N R=5/8 / ¢
V.-
Ay
>
A - -
LA .
A.' A - L.
A .A' .
A Y
EYE BOLT DETAIL STIRRUP DETAIL

CITY OF RANCHO CUCAMONGA, CALIFORNIA

REVISED | 6-20-95 |

APPRAVED 3% CATCH BASIN FACE PLATE ASSEMBLY| STAMDARD PLan

om %ﬁ( o %é{ AND PROTECTION BAR 305
CITY ENGINEER DATE| USE WITH STANDARD SPECIFICATIONS FOR PUBLIC WORKS CONSTRUCTION

RCE. 24953 SHEET S OF 6




NOTES:

GENERAL

ALL PARTS SHALL BE STEEL EXCEPT SET SCREWS, WHICH SHALL BE STAINLESS STEEL.
EXCLUDING SET SCREWS, ALL EXPOSED METAL PARTS SHALL BE GALVANIZED AFTER FABRICATION.
CURB FACE SHALL BE AS NOTED ON THE PROJECT PLANS

CURB BATTER SHALL BE 3:12 UNLESS OTHERWISE SPECIFIED.

~WN

FACE PLATE

5. FACE PLATE LENGTHS SHALL BE CATCH BASIN *W" PLUS 12 INCHES EXCEPT AS MODIFIED FOR A
“CURB" OPENING CATCH BASIN AT "DRIVEWAY"*

6. WHEN THE LENGTH OF THE FACE PLATE IS BETWEEN 22 FEET AND 43 FEET, 2 SECTION MAY BE USED.
WHEN THE LENGTH EXCEEDS 43 FEET, 3 SECTIONS MAY BE USED. SECTIONS SHALL BE SPLICED ACCORDING
TO THE APPLICABLE SPLICE DETAIL. SPLICE SHALL BE PLACED ONE FOOT FROM A SUPPORT BOLT.

7. WHERE CATCH BASINS ARE CONSTRUCTED ON CURVES, THE MAXIMUM CHORD LENGTH FOR THE FACE
PLATE SHALL BE SUCH THAT THE MAXIMUM PERPENDICULAR DISTANCE TO THE TRUE CURB SHALL NOT
EXCEED ONE INCH. WHERE MORE THAN ONE CHORD IS REQUIRED, CHORD LENGTHS SHALL BE EQUAL.
CHORD SECTIONS SHALL BE SPLICED ACCORDING TO THE APPLICABLE SPLICED DETAIL [MODIFIED TO FIT
THE CHORD DEFLECTION) AND A SUPPORT BOLT SHALL BE PLACED ONE FOOT FROM THE SPLICE.

8. ROUND HEAD ANCHORS FOR THE FACE PLATE SHALL BE NELSON H-4F SHEAR CONNECTOR, KSN WELDING
SYSTEMS DIVISION SHEAR CONNECTOR OR EQUAL.

SUPPORT BOLT

9. SUPPORT BOLTS ARE REQUIRED WHEN THE LENGTH OF THE CATCH BASIN OPENING 1S 7 FEET OR GREATER.
AND SHALL BE EVENLY SPACED ACROSS THE OPENING. SPACING SHALL NOT BE LESS THAN 3 FEET 6 INCHES
ON CENTER NOR GREATER THAN 5 FEET ON CENTER.

STIRRUP

10. FOR TYPE A, THE MATERIAL SHALL BE CAST STEEL.

PROTECTION BAR

11. TYPE A SHALL BE USED UNLESS OTHERWISE SPECIFIED.

12. FOR TYPE A, THE BAR SHALL BE CUT TO FIT IN THE FIELD. WHEN "W" IS OVER 21 FEET, THE PROTECTION
BAR SHALL CONSIST OF 2 OR MORE SECTIONS. A SPECIAL CONNECTOR BETWEEN THE PROTECTION BAR
PIECES SHALL CONSIST OF A 5-INCH LENGTH OF STANDARD 3/4-INCH PIPE WITH STANDARD COUPLINGS
FULLY THREADED ONTO EACH END DRILLED AND TAPPED FOR A SOCKET SET SCREW AS DETAILED FOR
THE DOWNSTREAM END ANCHOR.

13. FOR TYPE B, THE BAR SHALL BE TWO PIECES. TWO EYE BOLTS AND A WELDED STIRRUP ON EACH
SUPPORT BOLT ARE REQUIRED.

14. NUMBER OF PROTECTION BARS AND LOCATION {S] ARE AS FOLLOWS:

MAXIMUM CURB FACE

6" 1 7-]8"[9” [10" |11~ |12" 13" 114" [15” {16" |17~ [18"
@ | %120 |0 |3573.573.67/4.574.5"15.5"|3.57|3.57|4.5"|4.5" 45|
E 112 o |0 |3.5"|3.57|3.5"|4.5"|4.5"|5.5"[3.57|3.5"|4.5"|4.5%|5.5" g
@212 |0 {0 [35"|3.5"4.5"4.57|55|3,5"(3.57|4.5"|4.5"|5.57|5.5" uzz.v
@342 |0 |0 |3.5"(3.5"|45"a5"|55"|3.57|4574a.57|5.5°55"|a5%| O
3 412 | O |3.5%|3.5%/4.5"|4,5"|5.5"|3.573.5"|4.5"|4.5"|5.5"[4.5" |4.5" @

0 1* 2* 3*

NUMBER OF PROTECTION BARS

FOR OTHER CURB FACE OR BATTER, SEE PROJECT PLANS
X TYPE A PROTECTION BAR ONLY

REVISED | 7-20-92 |

CITY OF RANCHO CUCAMONGA, CALIFORNIA
APPROVED B CATCH BASIN FACE PLATE ASSEMBLY | Stavearp eLaw
MA1 7P 192 AND PROTECTION BAR 305
glgz ENG;“:ESES DATE| USE WITH STANDARD SPECIFICATIONS FOR PUBLIC WORKS CONSTRUCTION SHEET & OF 6




